
INSTALLATION GUIDE

 Support 32" to 65" Screen Size
Max Load Capacity: 66lbs (30 kg) Per Screen

VESA  100x100mm / 600x400mm compatible

User′s Manual

SEF2C2T



   attempting to begin your installation.
who has a basic knowledge of bui dil ng construction,installations and fully

     understands these instructions.

    

omeone assist you to lift and position your equipment.
bolts firmly, but do not over tighten. Over tightening can damage the items and greatly reduce 

   their ability to hold. Please refer to suggested torque values where applicable in these instructions.

2 7
X2 X8 X1

Dimensions

Parts list

M8X10

D1 D2 D3

X1

X1

X2

X8X8

Lag bolt Anchor6X   8.2X1.5M8X70

X8X2

M8

X2 X1

C1 C2 C3 C4 C5 C6

X1

M8X103mm 5mm 6mm M8

X1 X8

B1 B2 B3 B4 B5

X8X1 X1

wire cable

680mm[26.8″](Max)

31
00

m
m

[1
22

.0
″](

M
ax

)
690mm[27.2″]

40
0m

m
[1

5.
7″

]
30

0m
m

[1
1.

8″
]

20
0m

m
[7

.8
″]

10
0m

m
[3

.9
″]

φ165mm[φ6.5″]

φ110.5mm[φ4.3″]

R
5.

3m
m

[R
0.

2″
]

M5X15 M6X15 M8X25 6X   6.2X1.5

X4 X4 X4

A1 A2 A3 A4

X4

M8X45 6X   8.2X1.5

X4

A5 A6 A7

X4 X4

3X   8.2X13



6 3

X2 X2 X2 X2 X4 X4 X4X2

D4 D5 D6 D7 D8 D9 D10 D11

Optional Tool ( Not Included in the box)

78 80

77

25 2515

51

8.5

The tool for drilling new holes
 when extension pipe has been cut.

8mm

1

3

2

4

   3mm

   3mm

PLS DO NOT CUT THE CABLE 
 MANAGEMENT HOLE !

X 

D11

  6 mm

15 16

18

A1+A4/A2+A4/A3

A4

17

  5 mm

M5
1500mm 680mm

400F

19 20

Cable Management

A6

A7

A5



4 5

Installation 

D2

D1

D6

D3

B2

2

   5mm

1 2 BRICK OR CONCRETE

C4

C6

C5

9

5

7

4

8

WOOD

C4
C5

9

6

C1

B3

C2

Bottom Top

D4B1

   3 and 6mm

C1

B3

C2

D4

B1

   3 and 6mm

BRICK OR CONCRETE

C4

C6

C5

10 WOOD

C4
C5

10

11 12

14

D10

D10

D10

B5

  5 mm

B4

  6 mm

13

2

   5mm

3


